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8�$#6����'��6������ 

 ��� 2557 �!�"�ก�# �����$!���%�&ก���'�#�%(�)*��ก��+	�	*)�$���!�"�ก�#���%�&���	�� 0.7 .���*)���
�%/0��$(	�ก)��)*��ก��+	�	*)�$���!�"�ก�# ��� 2556 $(0���	�� 2.9 #�กก�����34�
��ก����$5�4����ก.�$(0�'��*)��	'��
*'���/0��#�ก��ก'��������6���#�ก
��ก��)�+����(78��4����)���/��$(0�	9' ����)�89� ���ก��ก)���ก��$�+���:;�����%<%'
8��$��ก���%/�� �.'��*���� +&�$(0ก�����ก#'�	�����%�&4���)���6�<��	'���'�.��$�� ��	)�<%'8�%��=+)����/0���!�"�ก�#<��
�	'���*>%$(0 ��ก#�ก�(7 4��ก��8'���ก	)��'��*)�*�%4����!�"�ก�#3�ก$(0?@A�*)��	'���������� 

����*������� ������
�'�����$!<$	��)����)*����ก��(7	�3	��	 (Repo-1 �)�) #����� 1 ��)7�#�ก���	�� 2.25 
��6����	�� 2.00  ���/��%(���% �I/0�ก��*5��ก��?@A�*)�+���!�"�ก�# �����$! 8'���)*����ก��(7	����J�ก 3 ��/���L�(0	+��
������I�&�.	�+��� �;' 4 
�'���)�*)�����#�ก���	�� 1.76 & 8�7��� 2556 ��6����	�� 1.30 & 8�7��� 2557 +&�$(0�)*��
��ก��(7	����ก9��9ก�����	 �;'.)7��( (MLR) +��������I�&�.	�+��� �;' 4 
�'�����#�ก���	�� 6.84  & 8�7��� 2556 ��6����	
�� 6.75 & 8�7��� 2557   

4���*���$5� ��� 2557 ��)�*)��(+Q7�*�%���%�./0�%)0�+��*���$(0?@A��/� 4�	��)�8=��ก��&�ก���%/��%(
��3��%
��(0���	 
%�
��ก�#�ก�:##)	4�	 �
��4�	��ก#�8�������%�)�����	'��%�ก*'�*���$5�*�����$(0�'��%� $)7��(7 �).�(*���
��)ก$�)I	�R �S�$(0���)� 1,497.67 #5� ��)�*)��I�0%+Q7�#�ก8�7��� 2556 $(0 1,298.71 #5� 3�	%(%9��'�ก��U/7�+�	�L�(0	*'��)��$'�ก)� 
41,605 ������$ ����#�ก 48,267 ������$ ��� 2556  

��6�ก��9%��� �3 

��ก��������%+�����")$8����)���� 31 �)����% 2557 ���")$���0%�V��)*�*�%%�*����ก����	���$��ก������L�)�
L�)�$(0 10 ��/0����ก��������% (ก'���)�$(0%(���)��)� .� 1 %ก���% 2558) UQ0�%(ก����)���5���)ก�ก&W�ก��#)�$����ก��������%
 �%' �)�%(�� �����")$<%'*�����������ก������+�����")$�'�%��� (Joint Venture) $(0<%'�+����/0��<+���")$	'�	�+��%�#)�$����
ก��������% �)��)7�  ������8�7�85��)�$(0 31 �)����% 2557 ���")$#Q�<%'*��������ก������+�����")$ $�83ก� 3*�ก(	� �(8U�0� #��ก)� 
%�#)�$����ก��������% 
*'�)�$Qก��6�������$5� ����")$�'�%*�%���(8'��<���8(	 �I/0� ���ก�����%��%��8%ก)�ก�����(	��$(	�
��	ก�� �ก������8����ก������ �����* 3�	8'��� ��%(ก����)���5� ���
8������ก������
����ก��<�+��$5���>��8�>#
���#���� 2557 
�����")$<����)���5���ก������	�����)�8����)������ 8�7�85��)�$(0 31 �)����% 2556 4�	 *�%�*�����);.( �%' 
�I/0����(	��$(	����	  

*�%
��ก������������$5�+��ก�5'%$�83ก� ������$�83ก� #��ก)� (%��.�) (_������`) ���")$
ก�+��ก�5'%$�83ก� UQ0�
���")$$�83ก�<?
���.(	�ก�5a� #��ก)� (%��.�) (_���")$`) =/��5�����	�� 99.99  <���������ก���I�0%$5�*�%%*�$(0���.5%8�%);�9�=/�
�5�����#���� 2557 3�	%(�)*=5���8����I/0�8�)�8�5�ก��+	�	�5�ก�# �����* ������<����ก
��#)�8���5���I�0%$5� ��
ก'�9�=/��5��
���% ��)*��8'�� 8 �5�����% (�5��8�%);
���5���5��%8�$��) *'� 1 �5��8�%);�I�0%$5� $(0�����8��+�	�5���� 23.89 ��$ �����6�
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	������#�กก���I�0%$5�#����� 1,023.96 ������$ 8'��� ��$5�.����
���+�����")$�I�0%+Q7���6� 9,215,676,920 ��$ 
���ก�����	�5��8�%); 921,567,692 �5�� 
���5���5��%8�$�� 104 �5�� 3�	%(%9��'�$(0*��<���5���� 10 ��$  

 

(�ก���������'���$�:!'ก��5����	ก� 
  

��$�� ��#�%:!';<����������2�ก�������������(�ก���������'���$�:!'�) 2557 �����������ก��:�!�7��) 2556 

 ���")$ $�83ก�<?
���.(	�ก�5a� #��ก)� (%��.�)  %(ก��<�85$��#�ก��ก�������������LI��ก�#ก�� � �� 2557 #�����  
2,000.73 ������$ UQ0�8'�� �;'%�#�ก��	<���'����%��(	%���ก�� 
*'��/0��#�ก���")$$�83ก�<?
���.(	�ก�5a� #��ก)� (%��.�) 
���ก���5�ก�#ก��=/��5�� ����")$�/0� (Holding Company) 
��<%'%(ก�����ก���5�ก�#��)ก�/0� � �)��)7���ก������������
��
����ก������$(0 .� �ก����������� #Q���6���ก��������%+��ก�5'%$�83ก� UQ0����ก�����	ก�5'%�5�ก�#��)ก 2 ก�5'% �/� ก�5'%�5�ก�#
������I�&�.	�
��ก�5'%�5�ก�#��)ก$�)I	� 3�	�$�����������6�ก���������������ก������4�	 *�%�*�����);.(L�)� �%'��/0��
��ก��������%  

 ก�5'%$�83ก�%(��ก��<���)��9�=/��5��8'�����	 ��� 2557 #����� 4,249.51 ������$ �I�0%+Q7� 0.47 ������$ ��/����	�� 
0.01 �%/0��$(	�ก)��� 2556 3�	%(��	<����ก��(7	85$���I�0%+Q7����	�� 8.2 #�ก*��$5�����J�ก$(0��)������	'��*'���/0��*)7�
*'*���� 

$)7��(7  ��� 2556 ��	<��$(0%� .'��ก��(7	#�ก�5�ก�#��)ก1 ��)�*)�������>ก���	$(0���	�� 0.2 #�ก��	<���'����%��(	%�5�ก�#������

I�&�.	�$(0���� ��)*����(	�ก)� #�กก���'��*)�+������ ��8���./0� ��ก#�ก�(7 ��	<���'���	����#�กก��U/7�+�	��)ก$�)I	�����
���	�� 14.5 *�%���%�&ก��U/7�+�	 �*�����)ก$�)I	�R $(0�����%/0��$(	�ก)���ก'�� +&�$(0��	<���'����%��(	%I/7����+��
�5�ก�##)�ก��ก��$5��*��3*���	�� 10.7 #�กก����)�*)�$(0�(+Q7�+��4���*���$5�
��ก����กก��$5�$(0*���)����%*���ก��+��
*����	'��*'���/0��  ก�5'%$�83ก�%(ก��<�*'��5��+)7�I/7���� (Basic earnings per share) 8����)��� 2557 �$'�ก)� 5.31 ��$*'��5�� 
�$(	�ก)�ก��<�*'��5��#����� 5.55 ��$*'��5�� ���ก'������ 8'���)*����*��
$�*'��9�=/��5���L�(0	 & 8�7��� 2557 �	9'$(0���	�� 
17.4 �$(	�ก)����	�� 20.6  ��� 2556 

 8����)������ก��ก��+��<*�%�8 4 �� 2557 ก�5'%$�83ก�%(��ก��<�#����� 1,234.07 ������$ �I�0%+Q7� 145.11 ����
��$ (���	�� 13.3) #�ก<*�%�8ก'������ 8'�� �;'��6���#�กก����)�*)�����+��ก��*)7�8�������(789; $(0���	�� 21.5 �%/0�
�$(	�ก)�<*�%�8 3 +&�$(0��	<��$(0%� .'��ก��(7	#�ก�5�ก�#��)ก.���*)�$(0���	�� 2.7 �%/0��$(	�ก)�<*�%�8ก'������ 8'�� �;'��6�
��#�ก�'����%��(	%I/7����+���5�ก�##)�ก��ก��$5�$(0��)����� ���	�� 4.7 #�กก����กก��$5���%$(0���� �.'�����	�� 
�	'��<�ก>�( ��	<���'����%��(	%�5�ก�#������I�&�.	�
����	<���'���	����#�กก��U/7�+�	��)ก$�)I	����0%��)�*)��(+Q7� ��)*��
��(	�ก)�$(0���	�� 2.1 �%/0��$(	�ก)�<*�%�8ก'������  ก��<�*'��5��+)7�I/7���� (Basic earnings per share) 8����)�<*�%�8 4 �� 
2557 �$'�ก)� 1.54 ��$*'��5�� �$(	�ก)� 1.36 ��$*'��5�� & <*�%�8 3 �� 2557 

 

 

                                                           
1
 ��	<��$(0%� .'��ก��(7	#�ก�5�ก�#��)ก 85$���'� .�#'�	8'��8��%ก��+�	$(0�ก(0	���/0��ก)��5�ก�# 
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 ��������ก
��
������ 

 ��� 2557 ��	<����ก��(7	85$�� %(#����� 9,539.79 ������$ �I�0%+Q7� 722.91 ������$ (���	�� 8.2) #�ก��ก'������ 3�	%(
��	<����ก��(7	#����� 18,890.87 ������$ ���� 70.04 ������$ (���	�� 0.4) 
���'� .�#'�	��ก��(7	#����� 9,351.08 ������$ ���� 
792.96 ������$ (���	�� 7.8) #�ก*��$5�����J�ก$(0���� 8�������ก)�ก����)����)*����ก��(7	�3	��	+��������
�'�����$!<$	
*)7�
*'.'��*���� 2557 
��ก��������#)�ก��*��$5�$(0%(���8�$��4�I 

�)*����*��
$�+������ ��8���./0� & 8�7��� 2557 �	9'$(0���	�� 6.5 ����#�ก���	�� 6.6 #�ก��ก'������ +&�$(0
*��$5�����$5���)�*)�����#�ก���	�� 3.5  ��� 2556 ��6����	�� 3.2 #�ก*��$5���ก��(7	����J�ก$(0����  

8����)���	<����ก��(7	85$����)��)ก��(789;
����(78�8)	#�89; 
��+��$5�#�กก�����	�'�+���� 2557 %(#�����  
5,113.33 ������$ �I�0%+Q7� 437.06 ������$ (���	�� 9.3) #�ก��ก'������ 3�	%(�'� .�#'�	��(789; ��(78�8)	#�89; 
��+��$5�
#�กก�����	�'�#����� 4,426.46 ������$ �I�0%+Q7�#�ก 4,140.60 ������$ ��� 2556 #�ก�'� .�#'�	$(0�I�0%+Q7���/0��#�ก��
+��$5�#�กก��+�	�=	Q� �*����=%/�8�� 

  ����������������ก
��
� 

 ก�5'%$�83ก�%(��	<��$(0%� .'��ก��(7	#�ก�5�ก�#��)ก#����� 5,677.42 ������$ ���� 12.10 ������$ (���	�� 0.2) �%/0�
�$(	�ก)���ก'������ 3�	%(��	<��$(0%� .'��ก��(7	#�ก�5�ก�#������I�&�.	�����#����� 8.85 ������$ (���	�� 0.2) *�%ก���'��*)�
+���5�ก�#8���./0� +&�$(0��	<���'���	����#�กก��U/7�+�	��)ก$�)I	�����#����� 154.35 ������$ (���	�� 14.5) �%/0��$(	�ก)�
�� 2556 #�ก���%�&ก��U/7�+�	 �*�����)ก$�)I	�R$(0����#�ก��ก'������ �	'��<�ก>�( ��	<���'����%��(	%I/7����+���5�ก�#
#)�ก��ก��$5��I�0%+Q7�#�����  90.44 ������$ (���	�� 10.7) #�กก��+	�	*)�+��8��$�)I	�4�	 *�ก�������� ���ก��ก)�ก��
��กก��$5���%$(0*���)�ก)����%*���ก��+��*����	'��*'���/0�� 

 
������������ก�����
������ 
 ��� 2557 �'� .�#'�	 �ก������������%(#����� 5,604.95 ������$ �I�0%+Q7� 339.78 ������$ (���	�� 6.5) #�ก�� 2556 

8'�� �;'��6���#�ก�'� .�#'�	$(0�)�
��*�%ก���*��3*+����	<�� $)7��(7 ก�5'%$�83ก�	)���8�%��=����5%*��$5� �ก������������<��
�	'��%(���8�$��4�I #Q�8'��� ���)*��8'���'� .�#'�	*'���	<����%�	9' ����)�*0�� $(0���	�� 36.5 �I�0%+Q7���>ก���	#�ก���	�� 35.7  �
�� 2556  

  ����
��������������  
ก�5'%$�83ก�%(�'� .�#'�	4�"(����<����*��5���8����)��� 2557 #����� 1,043.44 ������$ �����6��)*��4�"( ���	�� 19.6 

�	9' ����)���(	�ก)��� 2556  
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&��#ก���'��:!'ก��5����	ก� 
 

��$�� ��#�%&��#ก���'���$�:!'ก��5����	ก� ��2�ก�������������:�!�7� 9 $����+ 31 "��$� � 2557 ก��:�!�7� 9 
$����+ 31 "��$� � 2556 

 8����)���ก��������%+�����")$8����)���� 31 �)����% 2557 ���")$���0%=/��V��)*�*�%%�*����ก����	���$��
ก������L�)�L�)�$(0 10 ��/0����ก��������% (ก'���)�$(0%(���)��)� .� 1 %ก���% 2558) UQ0�%(�� �����")$<%'*��������ก������+��
���")$ $�83ก� 3*�ก(	� �(8U�0� #��ก)� %�#)�$����ก��������% 
*'�)�$Qก��6�������$5� �ก���'�%���*�%���(8'��<���8(	 3�	�$
�����������6�ก���������������ก������4�	 *�%�*�����);.(L�)� �%'�(7  

 

 ������>�% 
 8��$�)I	���%+��ก�5'%$�83ก� & �)�$(0 31 �)����% 2557 %(#����� 317,656.54 ������$ �������	�� 10.1 #�ก�� 2556 
8���*5��)ก%�#�กก������+������ ��8���./0� #�ก 286,414.66 ������$ ��� 2556 ��6� 262,783.83 ������$ (���	�� 8.3) 8'��
 �;'��6���#�กก������+��8���./0���		'�	 ��ก#�ก�(7 ��	ก������'��������
��*�����������#�ก 53,214.35  ������$ ���
ก'������ ��6� 38,057.99 ������$ (���	�� 28.5) *�%ก����)��������$5� ����%��8%ก)�ก���*��3*+��8���./0�  
 $)7��(7 ��ก���(	��$(	�*�%%�*����ก����	������% UQ0���%���")$ $�83ก� 3*�ก(	� �(8U�0� #��ก)�  �ก��$����ก��������% 
8��$�)I	���%+��ก�5'%$�83ก� & �)�$(0 31 �)����% 2557 %(#����� 325,261.16 ������$ �������	�� 9.5 #�ก�� 2556 
������ ��
8���./0�%(#����� 270,392.54 ������$ �������	�� 7.4 #�ก��ก'������ 
  
 ���*��� 

��(78����%+��ก�5'%$�83ก� & �)�$(0 31 �)����% 2557 %(#����� 291,832.85 ������$ �������	�� 11.7 �%/0��$(	�ก)�
��ก'������ 8'�� �;'��6���#�กก������+������J�ก
������ก9�	/%��	�8)7� #�ก 270,916.80 ������$ ��6� 213,090.11 ����
��$ (���	�� 21.3)  ��� 2557 $)7��(7 8)�8'����(78��+��ก�5'%$�83ก� ���ก�����	����J�กUQ0���%����ก9�	/%��	�8)7����	�� 73.0 
��	ก������'��������
��*����������	�� 3.7 �5��ก9����	�� 19.8 
�� �/0�n���	�� 3.5  

 

 �5$�:!'����:!' 
8'��+���#��+�� & �)�$(0 31 �)����% 2557 %(#����� 25,823.69 ������$ �I�0%+Q7� 2,769.34 ������$ (���	�� 12.0) 

#�ก�� 2556 #�กก���I�0%+Q7�+��ก��<�8�8%*�%��ก������������ ��� 2557 8'��� ��%9��'�*�%�);.(+��ก�5'%$�83ก� & �)�$(0 31 
�)����% 2557 �$'�ก)� 32.25 ��$*'��5�� �I�0%+Q7�#�ก 28.80 ��$*'��5�� & 8�7��� 2556  
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(�ก���������'��:!'ก��5����	ก�  

(1) "��ก��"�� ��>�9���% 

 �'��4�������?+! 

 ���� ��8���./0�+��ก�5'%$�83ก� & �)�$(0 31 �)����% 2557 %(#����� 262,783.83 ������$ ���� 23,630.83 ������$ 
(���	�� 8.3) #�ก�� 2556 *�%4����!�"�ก�# �����$!$(0.���*)� 
��*���	��	�*�$(0�'��*)�%�*���$)7��� 2557 ��ก=/� .�
%�*����ก����	���$��ก������L�)����%UQ0���%8���./0�+�����")$ $�83ก� 3*�ก(	� �(8U�0� #��ก)� ���� ��8���./0� & 8�7��� 2557 %(
#����� 270,392.54 ������$ ���� 21,758.11 ������$ (���	�� 7.4) �%/0��$(	�ก)���ก'������ $)7��(7 8)�8'������ ��8���./0�+��
ก�5'%$�83ก� 
�'���ก��6� 8���./0���		'�	���	�� 69.1 8���./0��5�ก�#���	�� 20.2 8���./0��5�ก�#+���ก���
��+���	'�%���	�� 
8.9 
��8���./0��/0�n ���	�� 1.8  

 �����?+!����5!�  

 ก�5'%$�83ก�%(8���./0���		'�	#����� 181,494.16 ������$ �������	�� 8.5 #�ก��ก'������ 3�	8���./0���		'�	
���ก�����	 8���./0��.'�U/7��=	�*� �=#)ก�	��	�*�
���/0�n ���	�� 91.0 8���./0����ก���8������	�� 8.3 
��8���./0��I/0�ก��
�������	�� 0.7 3�	%9��'�+��8���./0��.'�U/7�%(#����� 165,095.00 ������$ ���� 17,467.55 ������$ (���	�� 9.6) �%/0��$(	�
ก)��� 2556 8'�� �;'��6���#�ก*���	��	�*�$(0�'��*)� 3�		��+�	�=	�*� �%'4�	 �����$!��� 11 ��/��
�ก+���� 2557 
�	9'$(0 792,328 �)� �������	�� 34.9 �%/0��$(	�ก)�	��+�	�=.'����(	�ก)� ��� 2556 $(0 1,216,757 �)� *�%4����!�"�ก�#
��
ก�����34�$(0.���*)� $)7��(7 �)*�����%�&ก�� ��8���./0��.'�U/7��=	�*� �%'+��ก�5'%$�83ก�*'����%�&ก��#����'�	�=	�*� �%'�L�(0	 
(Penetration Rate)  � 11 ��/��
�ก+���� 2557 �	9'$(0���	�� 7.4 ��ก#�ก�(7 8���./0����ก���8���%(#����� 15,088.34 ����
��$ �I�0%+Q7� 663.85 ������$ (���	�� 4.6) �%/0��$(	�ก)���ก'������  

 �����?+!"��ก��  

 ก�5'%$�83ก�%(8���./0��5�ก�##����� 53,083.22 ������$ �I�0%+Q7� 1,961.59 ������$ (���	�� 3.8) #�ก8�7��� 2556 #�ก
ก��+	�	*)�+��8���./0� �ก�5'%�9ก����5*8��ก��%ก�����*
��ก��I�&�.	� 
��ก�5'%�8)�����%$�)I	�
��ก��ก'�8���� 

�����?+!"��ก��:���ก��'��#:����5!�  

ก�5'%$�83ก�%(8���./0�+���ก���
��+���	'�%#����� 23,389.51 ������$ ���� 8,644.93  ������$ (���	�� 27.0) 
#�ก�� 2556 8'�� �;'��6���#�กก������+��8���./0��I/0��9�
$�#����'�	�=	�*� (Car Inventory Financing) *�%���%#����6�
+��ก��8*a�ก8�����+���9�
$�#����'�	�=	�*�$(0����*�%	��+�	�=	�*�4�	 �����$!$(0���� ���ก��ก)�ก��$(08*a�ก8�����
	)�����)��+��89'4���$(08%�5�����'���5�8���
���5�$���	'��*'���/0�� 

 �����?+!!?+�@  

ก�5'%$�83ก�%(8���./0��/0�n#����� 4,816.94 ������$ ����#����� 26.41 ������$ (���	�� 0.5) #�ก8�7��� 2556 
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�'��;�ก�$�2  

 ����J�ก��%%(#����� 213,090.11 ������$ ���� 57,826.69 ������$ (���	�� 21.3) #�ก8�7��� 2556 *�%
��ก��
��)�8)�8'��3���8��������$5� ����%��8%ก)�ก��.���*)�+��8���./0� $)7��(7 & 8�7��� 2557 ก�5'%$�83ก�%(84�I��'��8'���ก��
���%�& 36,022 ������$ UQ0��%/0���%ก)�8��$�)I	�84�I��'��*�%�ก&W�+��������
�'�����$!<$	#����� 12,900 ����
��$ (*�%�ก&W�$(0��%*)s�
�ก����
���) 8'��� ��8��$�)I	�84�I��'��$)7��%������6��)*��8'��84�I��'��$)7��%�$(0���	�� 19.5 
UQ0�%�กก�'�$(0�ก&W�$(0 ��$.ก�����<��$(0���	�� 6.0  

 �����?+!��!� �98�>��# 5��(?+!���*�'����#�73 
 & 8�7��� 2557 �)*��8'����(7$(0<%'ก'� ���ก����	<��*'�8���./0���%�	9'$(0���	�� 2.57 �I�0%+Q7�#�ก���	�� 1.73  ���
ก'������ ��6���#�ก��(7$(0<%'ก'� ���ก����	<��+��8���./0��.'�U/7�$(0�I�0%+Q7�#�ก�����=%/�8�� �*���$(0����
����6���#�ก
ก��.���*)�+��8���./0� �����'���� �	'��<�ก>�( %9��'���(7$(0<%'ก'� ���ก����	<�����0%�	9' ����)�$��*)� �.'����Q0�����)� 
��/0��#�ก��ก��$�#�ก*����=%/�8��*'���(7$(0<%'ก'� ���ก����	<��%(
��3��%���� $)7��(7 �)*��8'����(7$(0<%'ก'� ���ก����	<�� 
���ก�����	��(7$(0<%'ก'� ���ก����	<��+��8���./0���		'�	 ��)*�����	�� 3.32 ��(7$(0<%'ก'� ���ก����	<��+��8���./0��5�ก�# �
�)*�����	�� 0.49 
����(7$(0<%'ก'� ���ก����	<��+��8���./0��5�ก�#+���ก���
��+���	'�% ��)*�����	�� 1.02 3�	��(7$(0<%'
ก'� ���ก����	<��$)7��%�%(#����� 6,750.20 ������$ �I�0%+Q7� 1,786.22 ������$ (���	�� 36.0) 
�'���6�+��������
#����� 5,902.06 ������$ 
�����")$	'�	�/0�#����� 848.14 ������$ $)7��(7��กI�#��&��)*��8'����(7$(0<%'ก'� ���ก��
��	<��*'�8���./0���%4�	 *�%�*����ก����	���$��ก������L�)����%UQ0���%8���./0�+�����")$ $�83ก� 3*�ก(	� �(8U�0� #��ก)� #�
�	9'$(0���	�� 2.50 �I�0%+Q7�#�ก���	�� 1.70  ���ก'������ 
 ก�5'%$�83ก�*)7�8�������(789; ��(78�8)	#�89;
����	ก��+��$5�#�กก�����	�'���%#����� 4,426.46 ������$ ���
�(7 �I�0%+Q7� 285.86 ������$�%/0��$(	�ก)���ก'������ 3�	%(8���*5%�#�ก�����=%/�8��$(0	)��	9' ����)�*0��
��	)���<%'?@A�*)� #Q�
8'��� ��ก��+��$5�#�กก��+�	�=	Q�	)����	9' ����)�89�  $)7��(7 & 8�7��� 2557 ก�5'%$�83ก�%(	��8������'���/0���(78�8)	#�89;

���'���/0�ก����)�%9��'�#�กก����)�3���8������(7#����� 6,950.42 ������$ 3�	����8�������6�8'��+��������#����� 
6,380.34 ������$ UQ0�89�ก�'��ก&W�+)7�*0��+��������
�'�����$!<$	$(0�$'�ก)� 3,517.27 ������$ ��/������6��)*��8'��+��
����8�����+��������*'�8�����*�%�ก&W�+)7�*0��+��������
�'�����$!<$	$(0���	�� 181.40 *�%�3	��	ก��*)7�8������	'��
��%)����)� $)7��(7 �I/0���6�ก���t��ก)����%�8(0	�$(0�ก��#�ก���%�)����$���!�"�ก�#$(0�I�0%89�+Q7�
���t��ก)���ก��$�$(0��##�
�ก��+Q7�*'�ก������������  ก�5'%$�83ก�#Q�<��%(ก��ก)�8�����8'���ก���I�0%+Q7��(ก 480.72 ������$ ��� 2557 

   

(2) "��ก�����ก���>�% 

 ��� 2557 %9��'�ก��U/7�+�	�L�(0	*'��)��'�� ��. $�83ก�  �$'�ก)� 2,196.03 ������$ �������	�� 14.3 �%/0��$(	�ก)��� 
2556 $(0 2,561.87 ������$ 8'����Q0���6���#�ก���%�&ก��U/7�+�	��)ก$�)I	�$(0������ �.'��*����UQ0�<���)���ก��$�#�ก
�:;�����%<%'8��$��ก���%/��$�� ���)ก��$5�+�����%�./0�%)0� �	'��<�ก>*�% %9��'�ก��U/7�+�	��)ก$�)I	�$	�	�I�0%+Q7�
4�	��)�8=��ก��&�ก���%/����(0���	 3�	��. $�83ก�%(8'��
�'�*���������>ก���	#�ก���	�� 3.0  ��� 2556 ��6����	�� 2.9 
8���*5��)ก%�#�กก������+��8'��
�'�*���+���9ก���8=��)�*'������$!#�ก���	�� 4.1 ��6����	�� 3.3 �	'��<�ก>*�%��. 

                                                           
2

 ����J�ก ��%=Q� ����ก9�	/%��	�8)7�$(0��6�����9ก�������J�ก�ก*�+�������� 
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$�83ก� %(8'��
�'�ก��*���+���9ก���8=��)� �����$! (<%'��%�);.(���")$��)ก$�)I	�) �I�0%+Q7�#�ก���	�� 7.2 ��6����	�� 7.7 
UQ0���6���#�กก��I)u�����ก��$(0��Qก"�����ก����$5�8����)��9ก���8=��)�
����������������)ก$�)I	�3�	���. ��	U� $�83ก� 
 �+&�$(08'��
�'�*���+���9ก�����		'�	�	9' ����)���(	�ก)��� 2556 $(0���	�� 2.0 $)7��(7 8)�8'��%9��'�ก��U/7�+�	��)ก$�)I	�
+�� ��.$�83ก� ���ก�����	�9ก���8=��)� �����$!���	�� 28.1 �9ก���8=��)�*'������$!���	�� 27.2 
���9ก�����		'�	���	
�� 44.7    

(3) "��ก�����ก��ก!'���  

& �)�$(0 30 Iv!#�ก�	� 2557 8��$�)I	�4�	 *�ก��������+���5*8��ก��%ก��#)�ก��ก��$5�%(#����� 5,029,889.52 
������$ �I�0%+Q7�#�ก�)�$(0 31 �)����% 2556 #����� 926,831.13 ������$ (���	�� 22.6) 3�	 ��#.$�83ก� %(8��$�)I	�4�	 *�
ก�������� & �)�$(0 31 �)����% 2556 #����� 169,720.72 ������$ �I�0%+Q7� 11,458.39 ������$ (���	�� 7.2) �%/0��$(	�ก)���
ก'������ ��6���#�กก���I�0%+Q7�+��8��$�)I	�4�	 *�ก�������� �4���*���$5�$(0��)�*)��(+Q7� ���ก��ก)�ก����กก��$5�$(0
8�������ก)����%*���ก��+��*���%�3�	*���  

$)7��(7 %9��'�8��$�)I	�4�	 *�ก��������+����#.$�83ก� 
�'���6�8)�8'��+��ก��$5�8�������(7	�.(I���	�� 65.1 ก��$5�
8'���5������	�� 17.5 
��ก��$5���%���	�� 17.4 
��%(8'��
�'�*��� & �)�$(0 30 Iv!#�ก�	� 2557 ��6��)��)�$(0 9 �����6�
���	�� 3.4 3�	
�'���6�ก��$5�8�������(7	�.(IUQ0�%(8'��
�'�*�����6��)��)� 3 �����6����	�� 13.2  8����)�ก��$5�8'���5���%(
8'��
�'�*���%�ก��6��)��)�$(0 7 �����6����	�� 6.3 
��ก��$5���%�	9'$(0�)��)�$(0 13 �����6����	�� 0.8 ��	<���'����%��(	%
I/7����+���5�ก�##)�ก��ก��$5�+���� 2557 �$'�ก)� 933.53 ������$ �I�0%+Q7� 90.44 ������$  (���	�� 10.7) �%/0��$(	�ก)��� 
2556 8'����Q0���6���#�กก����กก��$5�*��8��$5�$(0ก�������t��%�	��*��
$� (Equity Trigger Fund) #����� 21 
ก��$5�  (%(ก��$5�$(0=Q���t��%�	 �����'���� #����� 14 ก��$5�) 
��ก��$5���%$(0��$5� �*'������$! �.'� ก��$5���S�$�83ก� 
�	��%)� �����*(7 ก��$5���S�$�83ก� ����� ���.(	 �����*(7 
��ก��$5���S�$�83ก� 	53�� �����*(7 ��6�*�� 

 
ก�������� $�����+�'  

����ก��$5�+��ก�5'%$�83ก�*�%��)ก�ก&W�ก�����������ก��$5�4�	 ��I/0�����)����%�8(0	� & �)�$(0 31 �)����% 2557 
%(#�����$)7�8�7� 24,982.72 ������$ UQ0�%�กก�'�����ก��$5�+)7�*0��+��ก�5'%�I/0�����)����%�8(0	�#����� 8,698.38 ������$$(0
����%��#�ก
��#��������%�8(0	�4�	 � 3�	���� 1,642.56 ������$�%/0����(	��$(	�ก)�8�7��� 2556 ��/0��#�กก����)�����
+�����%�8(0	����������*
������*��� UQ0�
8�� ����>����)�����ก��$5�8'���ก��$(0%(�	9'89�=Q� 16,284.35 ������$��/����	�� 
65.2 +������ก��$5���% 

���%*���ก�� .�����$5�3�	��%+��ก�5'%$�83ก�$(0����%��#�ก
��#�����4�	 �+��ก�5'%���ก�����	  ����ก��$5�$(0 .�
����)����%�8(0	����������*���� 1,745.66 ������$ ��/����	�� 21.3 ��6� 6,462.22 ������$��/0��%�#�กก������+��
8���./0���%$(0���	�� 8.3 ����'�����'��%� 3�	�)*��8'����(7$(0<%'ก'� ���ก����	<��+��ก�5'%$�83ก���)�*)��I�0%+Q7�#�ก���	�� 1.7 %�
�	9'$(0���	�� 2.6 UQ0�8'�� �;'��6���%�#�กก����)�*)��I�0%+Q7�+���)*��8'����(7$(0<%'ก'� ���ก����	<��+��8���./0��.'�U/7� 
��
��/0��#�ก���8���./0�$(0���� 

 �+&�$(0����ก��$5�$(0 .�����)����%�8(0	�����*�������#�ก 334.05 ������$ ��6� 163.92 ������$ UQ0���6���#�ก
ก������+�����%�8(0	�#�ก������$5� ���)ก$�)I	�#�กก����)�*)��I�0%+Q7�+��%9��'���)ก$�)I	�
�����%�)����$(0����+��
84���*��� �.'��$(0�'��%�  �+&���(	�ก)� ���%
*ก*'��+��8��$�)I	�
����(78��3�	��% (Duration Gap) ��)�������6� 
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1.03 �� UQ0��	9' �ก����3	��	$(08�%��=������#)�ก��<�� 3�	��	������L�(0	+��ก����)��)*����ก��(7	 (Duration) $������
8��$�)I	���)�����#�ก 1.53 �� %��	9'$(0 1.40 ��  �+&�$(0��	�����3�	�L�(0	+��ก����)��)*����ก��(7	 (Duration) $������
��(78���	9'$(0 0.37 ��  

�%/0�I�#��&� ���/0�����%�I(	�I�+������ก��$5�*�%ก|�%�	+��������$�83ก� 
����. $�83ก� *�%�ก&W�+��
������
�'�����$!<$	
��8���)ก����&�ก��%ก��ก��ก)���)ก$�)I	�
��*�����)ก$�)I	�*�%����)� ������<�������
����ก��$5�*'�8��$�)I	��8(0	�*�%�ก&W�ก�����������ก��$5�*�%���( IRB 3�	���%�&ก���)*������ก��$5�*'�8��$�)I	��8(0	� 
(BIS Ratio) �	9'$(0���	�� 16.72 3�		)���89�ก�'��)*������ก��$5�+)7�*0�����	�� 8.50 $(0ก�����3�	������
�'�����$!<$	  
 �+&�$(0����ก��$5�.)7�$(0 1 
��.)7�$(0 2 *'�8��$�)I	��8(0	�+���������	9'$(0���	�� 12.50  
�����	�� 4.22 *�%����)� 3�	
�)*��8'��ก�����������ก��$5�.)7�$(0 1 �)�ก�'��	)���89�ก�'��)*��+)7�*0�����	�� 6 8����)� ��. $�83ก� %(����ก��$5�84�I��'��85$��
*'���(78��$)0�<� (NCR) �	9'$(0���	�� 54.73  UQ0�	)���89�ก�'��)*��+)7�*0��$(08���)ก����&�ก��%ก��ก��ก)���)ก$�)I	� 
��*���
��)ก$�)I	�ก�����<��$(0���	�� 7.00 
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*����$(0 1  :  3���8������	<��+��ก�5'%$�83ก� 

��#�8�:!'������ 

�� 2556 �� 2557 
���(0	�
��� 

(���	��) 
#��������� 8)�8'�� #��������� 8)�8'�� 

(������$) (���	��) (������$) (���	��) 
��	<����ก��(7	      
  ���� ��8���./0�  5,896.03  40.0   6,157.31  40.1  4.4  
  ��	ก������'��������  996.40  6.8   674.76  4.4  (32.3) 
  ���� ���.'�U/7�
��8);;��.'�ก������  11,851.74  80.3   11,654.05  75.9  (1.7) 

  ������$5�  216.75  1.5   404.75  2.6  86.7  
����������	ก��
��  18,960.91  128.5   18,890.87  123.1  (0.4) 

  �'� .�#'�	��ก��(7	 (10,144.03) (68.8) (9,351.08) (60.9) (7.8) 
�������	ก��
�������  8,816.88  59.8   9,539.79  62.2  8.2  

��	<���'����%��(	%      
  ��	<���'����%��(	%
�����ก��  5,416.91  36.7   5,187.25  33.8  (4.2) 
  �'� .�#'�	�'����%��(	%
�����ก�� (225.84) (1.5) (211.64) (1.4) (6.3) 
���������������
��������ก�������  5,191.07  35.2   4,975.61  32.4  (4.2) 

  ก��<�(+��$5�)85$��#�ก������$5� 
���5�ก��% 
  �I/0����
��������*����*��*'������$! 

 
 428.42  

 
2.9  

 
 291.33  

 
1.9  

 
(32.0) 

  8'��
�'�ก��<�#�ก������$5�*�%���(8'��<���8(	  45.69  0.3   52.13  0.3  14.1  
  ��	<���/0�n  1,172.98  7.9   764.93  5.0  (34.8) 
�����������กก������������  15,655.04  106.1   15,623.79  101.8  (0.2) 

�'� .�#'�	8'��8��%ก��+�	$(0�ก(0	���/0��ก)��5�ก�#�.'�U/7� (900.37) (6.1) (274.76) (1.8)  
�����������กก�����������������  14,754.67  100.0   15,349.02  100.0  4.0  

  �'� .�#'�	#�กก������������ (5,265.16)  (5,604.95)   
  ��(789; ��(78�8)	#�89; 
��+��$5�#�ก 
  ก�����	�'� 

 
(4,140.60)  (4,426.46)   

ก����ก5!�8����'�������#�5$�:!'(7�G?!�����5$���!�  5,348.90    5,317.62   (0.6) 

 �'� .�#'�	4�"(����<�� (1,040.71)  (1,043.44)   

ก����ก5!��5$�:!'(7�G?!�����5$���!�  4,308.19    4,274.17   (0.8) 

8'��+���9�=/��5��8'�����	 (59.14)  (24.66)   

ก�������"�  4,249.05    4,249.51   0.0  
 
*����$(0 2:  ��*'��+���)*����ก��(7	  

  
�� 2556 
(���	��) 

�� 2557 
(���	��) 

�)*����*��
$�+������ ��8���./0� (Yield on Loans) 6.6 6.5 
�)*����ก��(7	#'�	 (Cost of Fund) 3.5 3.2 

�5$�65�'!�6���!ก���*� (Loan Spread) 3.1 3.3 
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*����$(0 3:  3���8����8��$�)I	� 

������>�% 

& �)�$(0 31 �)����% 2556 & �)�$(0 31 �)����% 2557 
���(0	�
��� 

(���	��) 
#���������    8)�8'��  #���������    8)�8'��  

(������$) (���	��) (������$) (���	��) 
  ����8� 1,130.97  0.3  1,180.48  0.4  4.4  
  ��	ก������'��������
��*������� 53,214.35  15.4  38,057.99  12.0  (28.5) 
  8��$�)I	�*��8����5I)��� 28.22  0.0  -  -  (100.0) 
  ������$5� �*��8����(7 9,840.22  2.8  13,119.50  4.1  33.3  
  ������$5� �*��8��$5� 1,649.38  0.5  1,675.95  0.5  1.6  
  ������$5� ����")$	'�	 157.28  0.0  207.23  0.1  31.8  
  8���./0��5�ก�# 51,121.63  14.5  53,083.22  16.7  3.8  
  8���./0���		'�	 198,415.24  56.1  181,494.16  57.1  (8.5) 
  8���./0��5�ก�#+���ก���
��+���	'�% 32,034.44  9.1  23,389.51  7.4  (27.0) 
  8���./0��/0� 4,843.35  1.4  4,816.94  1.5  (0.5) 
  �'���/0���(78�8)	#�89;
��ก����)�%9��'�                                                                  
  #�กก����)�3���8������(7 

 
(6,331.22) 

 
(1.8) 

 
(6,950.42) 

 
(2.2) 

 
9.8  

  8��$�)I	��/0� 7,302.46  2.1  7,581.98  2.4  3.8  

�$�:!'ก��5����	ก� 353,406.31  100.0  317,656.54  100.0  (10.1) 

 
 
*����$(0 4:  ��	����(	�+������ ��8���./0�#��
�ก*�%����4$�5�ก�# 

����4$�5�ก�# 

& �)�$(0 31 �)����% 2556 & �)�$(0 31 �)����% 2557 
���(0	�
��� 

(���	��) 
#��������� 8)�8'�� #���������     8)�8'�� 

(������$) (���	��) (������$) (���	��) 
  ก�����*
��ก��I�&�.	�  17,739.39   6.2   18,862.96  7.2 6.3  
  �8)�����%$�)I	�
��ก��ก'�8����  11,417.61   4.0   12,160.59  4.6 6.5  
  8����&9�34�
��ก�����ก��  21,554.03   7.5   21,802.94  8.3 1.2  
  ก���ก"*�
����%/��
�'  410.61   0.1   256.73  0.1 (37.5) 
�$������?+!"��ก��  51,121.63   17.8   53,083.22  20.2 3.8  
�����?+!"��ก��:���ก��'��#:����5!�  32,034.44   11.2   23,389.51  8.9 (27.0) 

  8���./0��.'�U/7�  182,562.55   63.7   165,095.00  62.8 (9.6) 
  8���./0��I/0�ก������  1,428.19   0.5   1,310.82  0.5 (8.2) 
  8���./0��I/0�ก���5�34����34�  14,424.50   5.0   15,088.34  5.7 4.6  
�$������?+!����5!� 198,415.24   69.3   181,494.16  69.1 (8.5) 

   8���./0��/0�  4,843.35   1.7   4,816.94  1.8 (0.5) 
�$�:!'ก��5����	ก� 286,414.66   100.0   262,783.83  100.0 (8.3) 
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*����$(0 5:  ��(7$(0<%'ก'� ���ก����	<��#��
�ก*�%����4$8���./0� 

��#�8�"��ก�� 

& �)�$(0 31 �)����% 2556 & �)�$(0 31 �)����% 2557 
���(0	�
��� 

(���	��) 
���	��+�� #��������� 8)�8'�� 

(���	��) 
���	��+�� #��������� 8)�8'�� 

(���	��) 8���./0� (������$) 8���./0� (������$) 
  ก�����*
��ก��I�&�.	�  0.77   136.16   2.7   0.61   115.63  1.7 (15.1) 
  �8)�����%$�)I	�
��ก��ก'�8����  0.40   45.18  0.9  0.55   66.97  1.0 48.2 
  8����&9�34�
��ก�����ก��  0.32   69.83  1.4  0.34   73.41  1.1 5.1 
  ก���ก"*�
����%/��
�'  3.11  12.78 0.3  0.75  1.92 0.0 (84.9) 
�$����*��5ก5!4���ก�������� 
:!'�����?+!"��ก�� 

 
 0.52  

  
263.95  

 
5.3 

 
 0.49  

 
 257.93  

 
3.8 

 
(2.3) 

���*��5ก5!4���ก��������:!' 
�����?+!"��ก��:���ก��'��#:����5!� 

 
 0.47  

  
151.64  

 
3.1 

 
 1.02  

 
 239.36  

 
3.5 

 
57.8 

  8���./0��.'�U/7�  2.28   4,153.93  83.7  3.35   5,533.19  82.0 33.2 
  8���./0��I/0�ก������  4.85   69.23  1.4  7.33   96.04  1.4 38.7 
  8���./0��I/0�ก���5�34����34�  1.69  244.44 4.9  2.57  387.39 5.7 58.5 
�$����*��5ก5!4���ก�������� 
:!'�����?+!����5!� 

 
 2.25  

  
4,467.60  

 
90.0 

 
 3.32  

 
 6,016.62  

 
89.1 

 
34.7 

8���./0��/0�  1.67   80.79  1.6  4.91   236.29  3.5 192.5 
�$����*��5ก5!4���ก��������:!'ก��5����	ก�  1.73   4,963.98  100.0  2.57   6,750.20  100.0 36.0 

 
 
*����$(0 6:  ��	����(	�+����(78��#��
�ก*�%����4$  

���*��� 

& �)�$(0 31 �)����% 2556 & �)�$(0 31 �)����% 2557 
���(0	�
��� 

(���	��) 
#��������� 8)�8'�� #��������� 8)�8'�� 

(������$) (���	��) (������$) (���	��) 
����J�ก��% 270,916.80  82.0  213,090.11  73.0  (21.3) 
��	ก������'��������
��*�������85$�� 12,182.92  3.7  10,897.49  3.7  (10.6) 
�5��ก9� 36,809.00  11.1  57,699.90  19.8  56.8 
�/0� n  10,443.24 3.2 10,145.35 3.5 (2.9) 
�$�:!'ก��5����	ก� 330,351.96 100.0 291,832.85 100.0 (11.7) 
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*����$(0 7:  ��	����(	�3���8��������J�ก  

����4$����J�ก 

& �)�$(0 31 �)����% 2556 & �)�$(0 31 �)����% 2557 
���(0	�
��� 

(���	��) 
#��������� 8)�8'�� #���������       8)�8'�� 

(������$) (���	��) (������$) (���	��) 
#'�	�/��%/0�$��=�%  2,482.33  0.9  2,915.43  1.4 17.4  
��%$�)I	�  40,751.44   15.0   49,606.05  23.3 21.7  
#'�	�/��%/0�8�7���	�����  34,056.54   12.6   23,961.31  11.2 (29.6) 
�)*�����J�ก  187,351.86   69.2   128,900.99  60.5 (31.2) 
����ก9�	/%��	�8)7�  6,274.62   2.3   7,706.32  3.6 22.8  
�'��;�ก�$�  270,916.80   100.0   213,090.11  100.0 (21.3) 

 
 
*����$(0 8:  %9��'�+��8��$�)I	�4�	 *�ก��������+�� ��#. $�83ก� #��
�ก*�%����4$ก��$5� 

��#�8�ก!'��� 

& �)�$(0 31 �)����% 2556 & �)�$(0 31 �)����% 2557 
���(0	�
��� 

(���	��) 
#��������� 8)�8'�� #��������� 8)�8'�� 

(������$) (���	��) (������$) (���	��) 
ก��$5�8�������(7	�.(I 102,694.50 64.9 110,451.63 65.1 7.6 
ก��$5�8'���5��� 31,813.60 20.1 29,645.55 17.5 (6.8) 
ก��$5���% 23,754.24 15.0 29,619.55 17.5 24.7 

�$� 158,262.34 100.0 169,716.73 100.0 7.2 

 

 

*����$(0 9:  ��	������L�(0	+��ก����)��)*����ก��(7	+��8��$�)I	�
����(78�� 
����ก��$�  

����4$ก��$5� 

��	�����3�	�L�(0	+��ก����)��)*����ก��(7	 
(��) 

ก�����(0	�
���+����	<����ก��(7	85$�� � 1 ��
*'�ก����)��)*����ก��(7	+Q7����	�� 1  

(������$) 

& �)�$(0  
31 �)����% 2556 

& �)�$(0  
31 �)����% 2557 

& �)�$(0  
31 �)����% 2556 

& �)�$(0  
31 �)����% 2557 

8��$�)I	� 1.53 1.40 1,468.96 1,309.53 
��(78��* 0.37 0.37 (2,139.51) (1,780.69) 
 $���6ก65�'���"� (Gap) 1.16 1.03 (670.55) (471.16) 

* <%'��%�);.(����J�ก��%$�)I	�
���);.(����J�ก���#�� 


